HEHEFRER

R PR A7
NG EMmE
" 58X SEEH RFEH E kB 5T £ v
R A FAEE == = w | wmaEw | TR | —pyg | BAEY
BEEHK
() (N) (N) (N) (N) (#) (1) (1)
ik Es 653 3 15 2 - 4 33 137 -
S EabTET 555 1 1 0 0 0 7 17 0
BFE-—SHMES 558 1 2 1 0 0 15 38 0
= BRGNS 553 0 0 0 0 0 2 5 0
ANZ| R 553 0 1 0 0 0 5 12 0
EXH — i E — AR 2 658 10 107 12 34 418 388 1,575 5
HEABRE 558 2 3 1 0 3 18 72 1
E#WNNERRZ 7 14 134 18 38 460 606 1,949 5
= 658 16 167 21 46 564 702 2,409 6
PR R 655 3 17 2 1 26 54 339 1
LIEEREE 558 1 2 1 0 0 14 37 0

R EHREBRERES R (2024 % 1U°2025)

ABHE BYwHE
= % i E5Bh 5= HA Him. e
IR EEEH
(AN) (AN) (AN) (AN) (AN) (1) (#) (#)
TS 655 - 20 - 10 740 140 680 -
e
HEIL-BE o BT R 4 - - - - - - - -
HEEE 4 - - - - - - - -
ZERMERBGEES 555 - - - - 30 10 20 -
B W= 558 - - - - 160 20 140 -
BEE-K RS 555 - - - - - - - -
G I LS
BYE — S — i Ame R 65% 30 300 30 160 4,140 1,300 2,960 220
SBAF-SHRME 555 - - - - - - - -
= 65% 60 410 60 240 5,460 2,650 4,040 500
ER)IIpR = 7 40 350 40 200 4,720 2,260 3,670 550
EREAE 554 - - - - 60 10 60 -
(LB ES 558 - - - - 310 80 320 -
e S 655 - 50 - 20 1,260 300 1,230 -
LHETETE R 555 - - - - 80 10 60 -
B 559 - - - - 80 10 70 -
EENRENES 655 - 20 - 10 770 150 720 -
?%;E‘*ﬁ EE—-EHE 558 - - - - 260 50 230 -
M FiRRE 4 - - - - - - - -
REZIEFEH 555 - - - - 70 10 50 -
1E 4 554 - 10 - - 490 90 420 -
BRWE 655 - 100 - 30 1,800 470 1,720 -
MRS 4 - - - - - - - -
R FEEthE 558 - 10 - - 530 120 480 -
AT B B e E R R (2008)
ABIHE BYwmE
o " i ok E/E =R Fig- e
B ;;%r# EEH BEEH = % B = 5 2% i R EY
Rl <> E{%%é&
(AN) (AN) (AN) (AN) (AN) (1) (1) (#)
EiBrSIME 55% - 10 - - - -
AERFOT—4Z2E(ICLE=-RHFHEEE (2014)
ABHE BYwE
= " i g E5Bh 5= HA Fig- e
R & %g;%r# EEH REER = % it 2% g | RKEY
A= EEEH
(AN) (AN) (AN) (AN) (AN) (&) (#) (#8)
BAREHERHE 1 - — — - — - — —
F20 3 — — — — — - — —
F24 3 — — — — — — — —
F49 555 - — — - — - — —
F52 558 — 0 - - 10 0 10 -
F53 (BEIREANETE) 6355 - 20 — — 90 10 120 —
F54 G+ ErE) 655 0 60 0 0 240 20 300 —

BARBICEITARRKISADME - FZRICKHBEEE (2017)




